> A
A & 0l & AF 2 E A A
20178 & 20d SSENAMLSEIIA AH
A A X 0
A MAET 2
©€el: s3EX =d(s3EHAMSSESH) (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
AHS ST Dt 8,934,000 4,193,000 4,741,000
< 66,000
Al 8,868,000
A X 2e 8,880,000 4,188,000 4,692,000
< 66,000
Al 8,814,000
s2HX 2 (sSHAUAMSSEEEA) 6,900,000 3,000,000 3,900,000
SFE2X P LPAMACT =4 6,900,000 3,000,000 3,900,000
401 AIEHI L 20 6,900,000 3,000,000 3,900,000
01 A& HI 6,785,460 2,944,800 3,840,660
OBEIN T LBMATE EH
6,785,460,000& 6,785,460
02 2eltl 97,290 44,400 52,890
OE2XN 7 LetaA o 2ieldl
97,290,000& 97,290
03 Al S THHI 17,250 10,800 6,450
OSE2X 7 LA EHIT =4 AIE20]
17,250,000& 17,250
S22 2ol (sSHXALEL S H) 1,980,000 1,188,000 792,000
< 66,000
Al 1,914,000
S3HA 22 29 601,000 226,130 374,870
101 124 dl 20,000 13,500 6,500
4 D12t Z2XEES 20,000 13,500 6,500
Os3HX Jt2+= S &&3&4dl  20,000,000& 20,000
201 Let24dH] 89,440 89,950 A510
01 At 2teltl 15,440 20,350 A 4,910
OssHiac 29 10,440,000 10,440
Os3sHA ¥ H=2 5,000,000& 5,000
02 2324l 74,000 69,600 4,400
O=s3tX Jt2s I3 8,000,000& 8,000
Os3HX NH2E L HHEAE RANES
6,000,000& 6,000
OEMMsSHA H=HA™MIANE =
60,000,000& 60,000
202 O4dl 7,560 7,560 0
01 = LH 4 Hi 7,560 7,560 0
O=3HRAIY g2 =2 7,560,000& 7,560
206 M= Hl 6,000 6,000 0
01 MHZ 4l 6,000 6,000 0
O=s3C JIHE2s2 M2 6,000,000& 6,000




A A X 0
A MAET 2
©el: s3EX 2 (sSHIAMSSESH) (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
307 glz2tol & 48,000 48,000 0
05 RIZHRI & 3 48,000 48,000 0
OTEMMsSHX H=HAMEANE |2
| XI& 48,000,000& 48,000
401 Al HI K 201 I 430,000 60,000 370,000
01 A& Hl 427,840 60,000 367,840
O=3CHX A2 FHI 40,000,000& 40,000
OMESSHI ZLlARAL 28 SESA
297,840,000& 297,840
O2YSZUN HF EYH ZASY
30,000, 000& 30,000
OSBEMTHSZUR AFHDUEHY AAH &X
tHS 30,000, 000& 30,000
OSEYMsSEHX H==HAHAXIAIZE XSk
2 2 TolEs X 30,000, 000& 30,000
03 Al =TI 2,160 0 2,160
OMESSEHRI ZElARAE 28 SE A
2,160,000& 2,160
A2REIEEAMEAMNS 220,000 0 220,000
< 66,000
Al 154,000
401 A& HIZ 2018 220,000 0 220,000
= 66,000
Al 154,000
01 A& HI 218,560 0 218,560
OMEsZHI =2 FHIAHY
198,560, 000& 198,560
< 59,568
Al 138,992
OHELMHsSHA L2t ZEXAY
20,000,000& 20,000
< 6,000
Al 14,000
03 A& =2 THHI 1,440 0 1,440
OANEsEEHX =2 HHIALE  1,440,000& 1,440
< 432
Al 1,008
S3EX ole 2 1,159,000 821,870 337,130
801 GilHIbl 1,159,000 821,870 337,130
01 €eHoildl gl 1,159,000 821,870 337,130
©uouldl bl 1,159,000, 000& 1,159,000
HRES (A X D) 54,000 5,000 49,000
BEXNE(S3THXNAILELESAH) 54,000 5,000 49,000
BEXNE(sSHANAILSESA) 54,000 5,000 49,000
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